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PART I
ENGLISH




Read the passage given Epesiaimnr

Ons. (91 - 96) = P
and choose the best answer from the opt:

Siven.
It was during winter that appoopparz visited
us. I was not particularly fond of him and so, was
ot excited about his wvisit, as I had not had any
opportunity to interact with him in my childhood
days. I had dismissed him to be an old villager who
Eknmew mothing about modern times. He was my
maternial grandfather. Amma used to tell me that
he was a great scholar, who worked as a village
officer. But my arrogance and ego did not let me
acknowledge himm. My attitude towards him
changed completely when there was a
Set—together. One of our family friends who was
a senior sScientist struck a conversation with
appooppar: and was amazed at the way he was
updated on Iatest developments in science and
technology. I was sitting next to them. and was
surprised myself. Later that day, out of remorse, I
approached appooppar:z. He interacted with me as
if nothing happened.



The narrator’'s

was the obstacle

in his/her relationship with appooppan.

(A)

(B)

©)

(D)

happy nature
compassion
arrogance

none of the above




92. The word in the pPassage that means ‘related
to one’s mother’ is :

(A) arrogance

(B) maternal
(C) attitude
(D) scholar




What changed the attitude of the narrator
to appooppan ?

(A) When appooppan delivered a speech at
a get-together

(B) When appooppan organised a get-
together

(€C) When the narrator realised that
appooppan had updated his knowledge
on latest trends in science

When the narrator realised that

appooppan was wealthy



94.

What is the narrator’s justification for not
developing an intimacy with appooppan ?

(A) Appooppan was inconsiderate.
(B) Appooppan was arrogant.

(C) The narrator was shy.

(D) The narrator considered appooppan to
be an ordinary villager.



The narrator was

to see
N\
ppooppan when he visited.

a

(A) excited
(B) thrilled
(©) happy

(D) not happy

his/her




96.

The message of the passage is :

(A) We should not judge others by
appearance.

(B) Prejudice is not welcome in any
relationship.

(C) Never underestimate others.

(D) All the above



Qns. 97 to 120. Answer according to the

instructions given.

The professor has a unique style of opening

his lecture by from ordinary
examples.

A) taking up

(B) taking off

(C) taking on

(D) taking in




by his looks one could very well
say that he was a genius.

(A) Judging
(B) Judge
(C) Judged
(D) Judges



Blank verse is usually

pentameter.

(A) rhymed

(B) wunrhymed
(C) half-rhymed
(D) slant-rhymed

iambic




100.

The thunders the stormn were
scary to such an extent that I hid my head
under the pillow.

(A) Dbeside
(B) Dbesides

(C) along with
(D) almost



101. She

admitted her mistake when she

(A)
(B)
(©)
(D)

for hours by the police.

had interrogate
was interrogated
is interrogated

have been interrogated



102. We went for practice early in the morning.

Here, the word underlined is a/an =
(A)

(B) verb

(O adverb

(D) adjective



“The surgery will take at least eight hours.”

The appropriate question to get this as the
response is :

(A) How much long will the surgery
take ?

(B) How long will the surgery take ?

(<) How much time surgery take ?

(D) How long surgery will take ?



104.

The movie

A
(B)
(<)

(D)

to be a great hit in
spite of the controversies.

turmed up
turned in
turned out

turned away



105.

‘What she said was like Greek to me’

means :
(A) She knows Greek very well.

(B) She likes Greek.

(C) I learnt Greek from her.

(D) I could not understand what she said.




106. No one was around to help us when we

struggled financially,

(A) was there ?
(B) wasn’t there ?
(C) were there ?

(D) weren’t there ?



107.

The proverb “The grass is always greener on
the other side of the fence” means -

(A) There is grass on the plot next to that
of ours.

(B) Grass is always green even during
summer.

(<) There was grass near the fence.

Things that look amazing from a
distance may not actually be amazing.






109. If it rains for some more time,

(A)

(B)

(©

they would open the shutters of the
dam.

they will open the shutters of the dam.

they would be open the shutters of the
dam.

they will be opened the shutters of the
dam.



110. It is difficult to reach out to the people
inhabiting the areas across the river. Here,
to reach out to means :

(A) to communicate with

(B) to get in touch with

<) to interact with

(D) all the above

23



“Let's get the ball rolling to make this project
a success.” The sentence means :

(A) The project focuses on manufacturing
balls.

(B) They were doing exercise by rolling
balls.

(C) The speaker wants to give a good start
to make the project a success.

None of the above



“That was the moment when he reacted.”™
The appropriate guestion to get this as the

response is :

A) VWhen does he react ?
When did he react ?
When did he reacted 2

When he reacted 2

The smallest unit of language that has
meaning is called a =

Aa) morpheme
(B) rhoneme
(<) consonant

(D) vowel



114,

singing, we shou id

If she is good
help her become successful.

(A) of
(B) on
(<) at
(D)

this juncture that we can
twist in the story.




116.

117.

The word imaginative has
syllables.

(A) two
(B)
(<)
(D)

One of the following words is misspelt. Find
the word.

(A) glisening
(B) gliding
(<) glowing

(D) gladiator



* 2 r
“The doctor advises surgery,

said myvy

mother. This can be reported as :

(A)

(B)

(<)

My mother said that the doctor advises

surgery.
My mother said that the doctor
advising surgery.

My mother said that the doctor have
been advising surgery.

My mother said that the doctor advised

surgery.




119. Pick out the sentence that expresses an

opinion.

(A) You should bring the files now itself.

(B) Could you please give me some time ?

(C) I would rather you went by car when
you go for the wedding.

(D) Her name is Cleopatra.



120. There was no clue as to what happened,

the old woman started
narrating the incidents.

(A) untl
(B) wupto
(<) till then

(D) on when
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Questions 121-130. Read the passage and choose
the most appropriate answers from the options

provided :

Kausani is situated at a height of 6,075 feet
in the Central Himalayas. It is an unusually
attractive little town. It covers just about
5.2 sq. km. It lies to the north of Almora in
Uttarakhand’s picturesque Kumaon region.

Kausani provides a 300 km wide
breathtaking view of the Himalayas. It is the most
striking aspect of this place. Snow-capped peaks
are spread in a stately row. They stare at you in
silvery-white majesty. The most famous peak on
view is Nanda Devi, the second-highest mountain
in India. It is situated at a height of 25,645 feet
and 36 miles away as the crow flies. The other
famous peaks on wview are Choukhamba
(23,420 feet) and Trishul (23,360 feet). Then there
are also Nilkhamba, Nandaghunti, Nandaghat
and Nanda Kot. On a clear day, the blue of the
sky makes a splendid background to these peaks.




At sunrise and at sunset, when the colour
changes to a golden orange, the scene gets etched
in your memory. When.Gandhiji visited this place
in 1929, its scenic beauty held him spellbound. He
named it the “Switzerland of India’. He prolonged
his two-day stay to fourteen days, making time to

write a book, Anasakti Yoga. The place where he
was staying was originally a guest house of the
tea estate. It was renamed Anasakti Ashram aftor
the book.




Kausani is the birthplace of Sumitranandan
Pant, a renowned Indian poet. Its natural
surroundings have inspired many of his poems.
Its tea gardens mingle with dense pine forests and
fruit orchards. The area is also host to many fairs
and religious ceremonies. If Uttaranchal is the

abode of gods, Kausani is their backyard. There is
no traffic, no one is in a hurry. If serenity could be
put on a canvas, the picture would resemble

Kausani.




121. In the sentence ‘The place where he was

staying was originally a guest house of the
tea estate’, the underlined word serves the
grammatical function of a

Relative adverb introducing an
adjective clause

Preposition introducing a prepositional
phrase

Adverb modifying the verb

Conjunction introducing a noun clause -~



122. Identify the sentence in the Passive Voice.

(A)

(B)

The peaks spread across the sky in a
TOw.

The guest house was renamed Anasakti
Ashram.

Gandhiji prolonged his two-day stay
to fourteen days.

The tea gardens blend with the forests.




123. What does the phrase ‘serenity could be put
on a canvas’ suggest ?

(A) It suggests that Kausani’s beauty is

(B)

©)

overwhelming and chaotic,

It highlights the contragt between
Kausani and the bustling cities,

It paints Kausani as a place of calm,
peacefulness and natural harmony,
suitable for artistic representation,

It conveys the idea that Kausani is a
Place to forget the realities of life,




g the birthplace of
Sumitranandan Pant contribute to the

significance of Kausani ?

(A) It emphasizes Kausani’s historical
importance in India’s literary heritage, "

(B) It highlights Kausani as a place of
religious importance.

(C) It shows that Kausani is a commercial
hub with many businesses.

(D) It illustrates the town’s focus on
educational development. x



125. What does the passage suggest about the

town’s lifestyle ?

(A)

It is a place known for its chaotic and
busy streets. ’

It is a peaceful, tranquil town where

time seems to slow down.

It is a modern town with bustling
markets. r

It is a tourist hub with constant
movement and activi




126. Gandhiji used the term "Switzerland of India’
to describe Kausani. What attributes of the
place are reflected in the term ?

(A) The similarity in climate to Switzerland

(B)

©)

Its rich cultural history like that of
Switzerland

Its resemblance to the alpine
landscapes and scenic beauty of
Switzerland e

The peaceful and quiet atmosphere, as
in Switzerland



127. Which of the following sentences uses the
correct form of the verb in the context of the
passage ?

(A) The Himalayas stares at you i
silvery-white majesty.

(B) The Himalayas stared at you i
silvery-white majesty.,

(C) The Himalayas staring at you i
silvery-white majesty.

(D) The Himalayas stare at you i
silvery-white majesty.




128. Where in Uttarakhand is Kausani located ?

(A) Garhwal
(B) Kumaon
(C) Nainital

(D) Dehradun




129. Identify the sentences which best represents
the relationship between Sumitranandan
Pant and Kausani.

(A) Kausani was the inspiration for many
of his poems. v

(B) Kausani was the place where he
published his first book.

(C) Sumitranandan was born in a

different region, but his family lived in
Kausani.

Kausani is where Pant first met
Gandhiji.



130. Identify the sentence which uses the correct
form of the adjective for comparison in the
context of the given passage.

(A) Kausani is the more peaceful than any
other place in India.

(B) Kausani is more peaceful than no
other place in the region.

Kausani is the most peaceful of any
other place in the region. *

Kausani is the most peaceful place in
the region.



Questions 131-150. Choose the most appropriate
alternative from the options given to fill in the
blanks/answer the questions.

131. We are planning a surprise party for her

birthday. Identify the most appropriate
replacement for the underlined word.

(A)
(B)
(©)
(D)




132. Which of the following is grammaticalj,,
acceptable ? '

(A) Did the maid came yesterday ?

(B) Do the maid come yesterday ?
(C) Did the maid come yesterday ?

(D) Do the maid came yesterday ?



133. Unexpectedly for the coach , the players

won the game in the final minutes. The
underlined phrase means :

(A) The coach was confident that the
players would lose.

(B) The coach was indifferent to the result
of the game.

(C)  The coach predicted the players would
win.

(D) Thecoach was surprised by the players’
victory. v '



134.

Identify the correct spelling.
(A) Ocurrence ”

(B) Occurrence

(€©) Ocurrance -

(D) Okccurrance

Evaluating the learning of students at the end
of an instructional Programme is known as

(A) formative assessment >
(B) peer-assessment x
(C) summative assessment

(D) self-assessment




136.

137.

Look cout for the car coming around the

corner! The phrasal verb in the sentence
means :

(A) to search for something -
(B) to be cautious or alert
(<O to ignore something >

(D) to watch a movie -«

ESP in English language teaching stands for

(A) English for Special Purposes
(B) English for Specific Pedagogy
(<) English for Scientific Projects

(D) English for Spec;flc Purposes



138.

The language function expressed in the
sentence, ‘She can play football” refers to

(A) ability Y

(B) permission *
(CO) suggestion *

(D) assumption

When Thomas heard about the promotion,
he was on cloud nine for the rest of the day.
The idiom in the sentence means :

(A) feeling extremely tired »
(B) feeling uncertain -
(O) feeling ecstatic

-

(D) feeling extremely angry



140. The first step in editing a passage is

(A) the correction of errors
(B) writing

(C) reading

(D) rewriting

Identify the wrongly paired option :

(A) Wilga Rivers - Communicative
Language Teaching

(B) B.F. Skinner - Behaviourist Theory
(C) Lev Vygotsky - Language Acquisition

Device <

(D) Stephen Krashen - Input Hypothesis



142. Role play in the English language classroom

is especially useful for

A)

(B)

(<
(D)

improving student’'s spelling and
grammar »

developing student’'s conversational
and social skills ~

memorising vocabulary

-

enhancing student’'s ability to read
aloud fluently »

Identify the option that doesn’t suit the

symptoms of dyslexia.

A)
(B)

<
(D)

o

-

Difficulty in reading fluently
Difficulty in word recognition and
spelling b
Difficulty in writing

Difficulty in reasoning




144. Which among the following is NOT an
interactive teaching strategy ?

(A) Peer teaching

(B) Video based learning
(C) Collaborative learning -
(D) Language games -

The questions a teacher is expected to ask
while processing a reading passage in the
class are called

(A) scaffolding questions
(B) global questions
(©) vyes/mno questions

(D) Wh questions




146.

If I studied harder,

(&)
(B)
(©)
(D)

I would have cleared the test
I will have cleared the test
I will clear the test »

I would clear the test

‘“Why are you late ?” the teacher asked the
boy. This can best be reported as

(A)

(B)

(©)

(D)

The teacher asked the boy why he wag
late.

The teacher asked the boy why was
he late.

The teacher asked the boy why he is
Iate.

The teacher asked the boy why is he
late.

*




148. I write about people
me.

(A) less, than

(B) little, than
(O least, than
(D) less, to

The sentence “I saw childs sitting on the park
bench’” shows an instance of
error.

A) thematic

(B) syntactical

(C) morphological
(D) phonological ~




150. Would you mind

(A) to move the chair
(B) move the chair

(C) moving the chair

(D) to moving the chair
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61. God's particles is the pseudony_,m

(A) Protons
(B) Leptons
(C) Photons
(D) Higgs Boson




62.
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62.

The following words have a certain relafj,,
to each other. Select the pair which has g,

relationship.

Force : Newton

(A) Weight : Litre
(B) Time: Joule

(C) Pressure : Pascal

(D) Speed : Tesla
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63.

How does thermal expansion of the

atmosphere effects weather patterns ?

(A) It reduces wind speeds

(B) It increases the frequency

thunderstorms

ol

(C) It causes air masses to rise and create

low—pressu re zones

[t prevent cloud formation




. Which among the followin

scalar ?

(A) Force

(B) Work

(C) Velocity

(D) Momentum

g a!wfu’limf'% 1S




65.

smogleflement aposnidelomay” (Gottlieb
Haberlandt) ag)m Gal® oR®im0owS
UTWEQS®6 ?

(A) (GAID ©OOIeaHd (a0dl® aflgjalo)
120@ anodloty ((aldhy® dhyasdl)

65.

The name Gottlieb Haberlandt is connected

with :

(A) Green revolution
(B) Natural farming
(C) Organic farming
(D) Tissue culture

62
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66. What part of the brain regulates
temperature, hunger, and thirst ?

(A) Cerebrum
B) Hypothalamus

(
(C) Medulla oblongata
(

D) Thalamus




Which chamber of the heart receives

oxygenated blood from the lungs ?

B, qomeaonoid dajo sgiansade - 67.
omo qldlanyme a0yB0Oiee) afy®

@OWeM ?

—(A)sal agel0o
(B) sso oaudEladdd

Left atrium

Left ventricle

(C) auele agsl@o Right atrium

(D) Qe eudSlasficd

Right ventricle



68.

80} e30MmdeE dodlan canonna a)eo
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68.

What is the focal length of a COnve
(A) Positive

(B) Negative

(C) Zero

(D) Infinite
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69.

(A) aNlodwmocmdoNan (116 @D
aSleslowy)

(B) dlwam aflom (wlwelal allelous)

(o “@omam alom (oBawlal afesloud)

(D)  (ai@lancimocnd: aflom (Slegalal
aHleslowd)

“Knowledge is built from sp,
observations to form general thegy,
Which among the following is true

statement ?
(A) Critical Thinking

(B) Deductive Thinking
(C) Inductive Thinking

(D) Reflective Thinking
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Why can we see only one part of the M
from Earth ?

(A) The period of rotation and revolu]

are equal.

(B) Only one part reflects light.

(C) The period of rotation and revolut

are different.

(D) The moon has no atmosphere.




1.

@omg\ﬂowgmmmﬂ@ aR®oem’
admelme' aem qaflafleaimae ?

A) ©6% (UIaHITOI&HREI0 TEIHD-
@@o6M

@) oo milafladflrdd@ano emd-
@M

/(Q)/ 80} laflafilmila’ wiemdeemd6m),
agailem entouslleanymilg)

D) eoyladfimilay vyemdemoe, balolles)
BEOAHHOIDOENY

71.

Which of the following indicates

‘commensalism’ ?

(A)

Both species are harmed
Both species are benefitted

One species is benefitted, and the other
is unaffected
One species is benefitted, and the other

is harmed




79 Which is the least dense metal ?

72, aRQlo MUO(M3M 06T GEidabo ofy® !
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(D) milddoud
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73.

What is indicated by a sudden fall in the
barometer reading ?

(A) Fair weather with clear sky

(B) Approaching storm
(C) Temperature remains unchanged

(D) Extreme cold




4. oy aaoelen) voloen pH ol
ag)mosn ?
1) 735 ajod 745

B) 68072

©) 75 oo 80

(D) 65 e 7.0

74 What is the normal pH range of human
blood ?

() 73510745
B) 681072
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75.

The connective tissue that Sy,
muscle fiber is called : h

(A) Epimysium
(B) Endomysium
(C) Perimysium

(D) Sarcomere
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76.

In a third order lever :

(A) Fulcrum comes in between resi
and effort.

(B) Resistance comes in between effc

fulcrum.

(C) Effort comes in between resistan
fulcrum.

None of these
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An artificial satellite may be seen just?
a definite point at the geostationary ¢

this satellite _

(A) Remains stationary in space

(B) Revolves around the Earth in oné.

(C) Complete one revolution arou™

Earth in 12 hours

i
. . o 1\1
(D) Complete one revolution arow!

Earth in 24 hours
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78. “Formulates new structures from existing
skills and knowledge” which subdomain

under Blooms Taxonomy denote this ?

Application
Analysis
Evaluation

Synthesis




79. Chemical formula of Calamine is :
(A) CaCO,
(B) ZnCO,

() MgCo,

(D) NayCO,
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RelEm e ®oalmlel  uoWoREM Temperature of water increases
Hlarleicw £600 QUdAVIENM] beyond its normal boiling point

All the heat remains inside
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®oado SN} @alOdhyM @’ To regulate heat transfer
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The boiling point of water is decreased
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(A) 0° Celsius

(B) —273° Celsius

(9/'7 —40° Celsius

(D) 273° Celsius

At what temperature

daro U

on Celsius and F""h"@nhs;,’t s
La)

(A)

(B)

©

(D)

0° Celsius

—273° Celsius

—40° Celsius

273° Celsius




82.  wmmidd aleirloenien eaimmeosn : 82.

(A) 3000 m/s
(B) <3x10% m/s

(C) =3x10%m/s

(9)/>3><108 m/s

Speed of Blue colour in the V
(A) 3000 m/s
(B) <3x10% m/s

=3x10% m/s

>3x10% m/s

acw




alallsim eoiSlaglad Blemoom aleiwo  83.

O2JQYLH®Io  Galda¥eMo  (alBIMo
£.219)H@I0 H2IQYIMM HRIGHRIE.,

(A) eanogleflavend

(B) agaflesrnagad

(C) agdeanomicalo

(D)/’/()')Q_J(Or]dbofb%}'

The tissue that surrounds and nours
embryo in the seeds of flowering pl
Cotyledon
Epicotyl
Endosperm

Perica rp




pafld)® aowjfiod mowlaemye- 84, Which component of liquid air is oot
porlof 02000l @eje aidlan)m first during the fractional distillation *
ngg&ﬁﬂ)@om, ?

(a)_o0sRd (A) Nitrogen

v 7

B sogis (B) Oxygen

(C) @piecoad (©) Argon

(D) &ODEIETDONUBINAGH (D) Carbon dioxide




s caponameld  @dlal  (sodemodg
(ElainmIN®o)m 9deo MM

ODI(® o® ?

W@.Q.ﬁ. v

(B) afl.agd.ag).
(C) Qe
(D) Eod.ag)id.f).

85. Which molecule provides energy for active

transport in cells ?

(A) ATP
() DNA
(C) Glucose
(D) RNA




5 a0uoL00emaow (edlo @oalifel djogomd 86 The type of drug used to reduce abnormal

HlcOudlanm edaibo :

(A)  @odgomfiavjdd

B aomodeN )

) eofenewogannad
(D) @Eosaioglésn

body temperature :
(A) Antacids
(B) Analgesics
(C) Antibiotics

(D) Antipyretics




87, moynt pomaleaod] ol

() Hanoms GonOGHW

) ooaclas’ sonogw

(2 opansupA Aaa0my BOOGW

87. Rust in chemically
(A) Ferrous oxide
(B) Ferric oxide

(C) Hydrated ferrous oxide

D) omnoaups enadis GI0OGY

(D) Hydrated ferric oxide




MIRYy®Oalo @ aloflcelss OO HDO[O 88. What is the mode by which g,
©21YeOaSIM dlail agynmoem’ ? transfered to the Earth ?

(A) _a10e1MO (A) Conduction

AB)  allelesemo (B) Radiation

(©)  avoauanmo (C) Convection

(D)  entoaylssmemo (D) Evaporation




89.

a0@l® snamwmo MA@ 53mMe) ?

(A) dlewom

(B) ealesoglwo

(C)  emotdmomy

(D) eeanwem

Which is known as green fuel ?

Methane

Petroleum

Coal gas

Hydrogen




90.

®06)Y ao@MAI®  woilw 90

DEMORIUMTIOM MVJ@OUC aRe ?

(A) @0 amaudl]

(B) @ndl@m @oElvjomo

HOH600 adlom

@D 1ad000® @ElnIo®o

Which of the following 1s3¢

scientific attitude ?
Open mindedness
Over confidence
Rigid thinking

Subjective U}‘il““”




MATHEMATICS

88



Numbers 31 to bU

13312 810S aBRAUC 0211 ol 0emese 37 which smallest two digit number added to

Moa))dISIGMIOPIET’ 9 &R wyerimo 43312 gives a multiple of 9 ?
pdlaoye ?

(A) 10 (A) 10

| 11

14 - © 14

17 (D) 17

11

DEMRE) MOA)OR BOHRIV) DEM2En . A two digit number divided another two
MoaLOH06M an®lglea o 4.125 &g digit number gives 4.125. Find the least
oeamem pemoadw edsno0ym natural numbers that makes :
a@RAllo aidlw el agal ?

(A) 66,16 - (A) 66,16
B) 62, 12 (B) 62 12
(©) 55,15 (C) 55,15
D) 76, 16 (D) 76, 16




3. er) weMld eIoRGIOP @DGRIS0

2QI0s ansgmaﬂm']@o&mmmﬂm%
QRBIET).

(A) aflue eweuremo

(B) @meainwomo

(©)  tasgo dfldlgdload v

(D)  dlagjodg g0

62 x32x 4 of @R A apis &R ?

(A) 5

(B) 13
C) 18

D) 25

33.

Which of the following is the first step in a
Mathematics project ?

(A) Data collection

(B) Analysis

(C) Identifying the problem
(D) Report writing

The number of factors in the expression
62x32x4 is :

(A) 5

(B 13

(C) 18

(D) 25




: et 1 )
35. ar] voajaRes 4l @ oflary @R aUoay When 5 of a number is subtracted from =
of that number, we get 10. What is the

1 O8]y
oes 3 @O0 0.2 10-#51530 number ?

a@ad ?
(A) 20 (A) 20

(B) 60 (B) 60

(C©) 160

C 160
(D) 200- (D) 200

A 11 meter long rope is cut into 1.75 meter
long pieces. What is the length of the last

36. 11 digd dilagies Hwd 1.75 dQd cfigmes 36.
dHhaMEMETBRIHOIM]. @DQUTVOMo a@lalo
QRO dbaHem@TeNd oflgo agi® ? remaining piece ?

= (A) 25 centimeter
(B) 50 eaoqglaigd- (B) 50 centimeter
(C) 75 exmocBlagd (C) 75 centimeter
(D) 1.25 digd (D) 1.25 meter




&

33 _ 056 ; 3.3
= x =22 = 0352 apens 22 x 33
25 21 @Dem 525 * 021 OB

aflel ag)@oeny’ ?

(A) 0.352
(B) 3.52
(C) 35.2

(D) 352

Kool alomanmo) MITweq]s’
QoM an@ e @RAUGEaflo| caigemed
CRHCOD® agymoens’ ?

(A) allvwseimo

(B) eaides
©)  eywyIBS0emo

(D) ecwIamo

2001 M

38.

33 _ 0.56
s NS
25 21
56 _ 3.3
— X —= 2
025 021°
(A) 0.352
(B) 3.52
(C) 35.2
(D) 352

= 0.352. What is the value of

According to Van Hiele which one of the
following considered as the first step in
geometrical learning ?

(A) Analysis

(B) Abstraction

(C) Visualisation

(D) Synthesis




(C) 3 times 7

m>@+gx%




40, M06% 6BISEMAUAAM oo 62100
ofyo ?

1
3,031, (0% 0.03

40. Which is least among the following ?

1
3/ 031 (0.1)%, 0.03




1. anaps e&osgm’lm’lmmﬂmmﬂ@
®alinm dafiages maflerat® og® ?

(A) 9EoanememREdd aflomy 6al0®3
T GIEE] v

®)  @edloymaid oo

andlwoemaia alary
eeclooanmaiieaids

domaceeia@ alar
eeadOHREELIES

41.

Which of the following is a characteristic of
analytic method ?

(A) from examples to a general principle
(B) from known to unknown

(C) from unknown to known

(D) from concrete to abstract




42.

43.

®oeY @MEIE —4

agIo 2
(A) —5+9 ~

B) —9+5
(© 5-9
1

1
2
(D) > >

2RSS 680530551l MNAIS @D wemi@- 43.
AlOMET@ ®OTal®yo Iadomymasiay
@OMICWOYMODVE® af® ?

P

(A) DFanalooo MTDHTD
(B) memlm Heldtid M@deGd

(C) c2I0aRIERWD G oloElead  *

(D) @, NG ]

Which of the following is not equal to —4

(A) —5+9
(B) —9+5
(C) 5-9

1 1

@y —ig—5

Which of the following is suitable to develop
interest in learning Mathematics ?

(A) Giving homework

(B) Giving Mathematical games
(C) Asking questions

(D) Conducting aptitude test

44




44.

DOOY OHOSIETOUS T Wei® 2101 (>

alomesled lalwom ISTTeléio el

BENBHODONLND).

(A) B BHEROS QAUBTIaIODOW (IRETBUD
al@Blaodleaniomasia’y

(B) #S8-68 Mnamestd @gaNla-@leanod
VaOODBeIMN @I

©) S8 QAUUERW EIUIRBGTHMETEEIGD
BEDROLOHONESINAS

(D) weml®mwoRPewIen auUadojwio
aquIEdQIQIio AMESeHeMEay

45.

55+455+55+55+55=25* @p@o@ x &
aflel ag> ?
(A) 25

®) 20
) 6
(D) 3

Which of the following is an importan:
objective of teaching history ot
Mathematics ?

(A) Solving students personal problems
(B) Helping students to arrive conclusions

(C) Engaging students in differen
activities

(D) To understand the nature and growt!
of Mathematics

If 55+ 55+ 55+ 5%+ 55=25%, the value of :
is :

(A) 25

(B) 20

() 6

(D) 3




46, @09 pposiomA@  meme
" Jecioyomelo) WM 9egurimon
M(awmﬂmomg,mmfz

(A) wolmoallem 0g) $151H8100w
@onmajp O.2igpmafa) :

womadl@  @eEl@yefla®lem
(QREBA HOMBEMIBDI0 §.allm-
20® al@la0d® GEUIWMo M@ddny-
&Y H2IQOD ~

0 mBORIOS alBOI OO H0qlo-
anymaflay K

aOM a8 Gr6) ®YO00-
dﬂ&(mﬂiﬂ(ﬁ ©

Which of the following is the main objective

of continuous assessment ?

(A)

(B)

To compare the learner with other
children.

To find out problems faced by the child
during learning and give suitable
remedial teaching.

To ensure the involvement of parents.

To prepare the progress record
properly.




80} MoalyaRes 25% Qg)(M®Y 35 @M. 47.

moaly aR® ?
(A) 25

35
< 70

(D) 140 ~»

anaIes @maldleeym @anmoayegl® 48,
ARRARe QIR a@®Y ?

A)

(B)

©

(D)

25% of a number is 35. What is that
number ?

(A) 25
(B) 35
© 70
(D) 140

Which of the following fraction is the
greatest ?

(&)

(B)

wlw wIN NO

©)

W=




9. a0} gomiea A aflaflaynleai@io B
alaflamleai@io digleod m0s1e)8s
@pouenIawo 7 : 9 e, alaflaxad A @lad
ooy 6 @pgleog alafad B laelde
2ogl@anjodd @oovrenimbo 1:3 @ @Cl.

aflaflaxd A ofelo B dlelo dysl @D6E
&IGBR10S ag)emo ag)@@osM ?

49.

The ratio between children in division A and
division Binaclassis 7:9. When six children
were transferred from division A to division
B the ratio become 1 : 3.

What is the total number of children of
division A and B ?

(A) 16




Weml® I alomeEwleel (GN]d)
al@la0Eem @ MMEBLEI  ©alSIEH®

aR®y ?
(A) allde:desedd -
(B) alocgem ag)wimad

(©) 9vadleseyo aidlewouslenealyo

(D) alloes:0g afosisedd

8o} dlondimore 200 dgd allcloes amy
all®y 5 dlolg oo  ewhoens
TFOBISOSH0M]. @O®OYIOS eAIMo
#leendigd/aemlendldd agmwosny’ ?

(A) 40 km/hr
(B) 24 km/hr

4 km/hr

24 km/hr

Which is not a problem solving technique ir
Mathematics learning ?

(A) Give explanation
(B) Write a pattern
(C) Guess and check

(D) Look backward

A swimmer crossess a river of widtr

200 meters in 5 minutes. His speed
kilometer/hour is :

(A) 40 km/hr
(B) 24 km/hr
(©) 4 km/hr

(D) 24 km/hr




YO U@ 21O AT 6) R Aoy
256 .al.eqV.dl. @DEM. @D D2 IO
aieBges URMIMLISOR swosfiqlqof
Q®2]od B[N Oal@ATTIO R alogjaat

ag® ?

A) 512 21.6av.oil.

(B) 256 al.ev.al.

C) 128 aleav.dil.

(D) 64 al.equ.dl

@SB 2O BMUGY ag)ERE@ VOO EHOS
EOMA ‘M’ @M. EDOIGWOS &3Sl asSAdTY
Ay 10 ag)ER@d LoD  B3S]
B @OT VDEOUDA! AG)DOETS ?

(A) n+1

(B) n+5

©) n+10

(D) 14.5

The area of a square is 256 cm?2. Then what
will be the area of the figure got by joining
the midpoints of the sides of the square ?

(A) 512 cm?
(B) 256 cm?
(C) 128 cm?

(D) 64 cm?

Average of 9 consecutive numbers is ‘n’. If
the next 10 numbers are also included the
new average will be :

A)
(B)
©

(D)




5% faeymaudid meflm 54 Which of the following is used as a software
© 210168 680S)ODldlee

alomanios QQJGCD)O(DG)HS&MO@ - for learning Mathematics ?
@M emondgonied ag® ?

Geogebra
Zlewogden 8

Marble
oodendlcd
Celestia
QU= () es

Stallarium
ogRegidlwo




55. aj0ies esosemaueia@ 80 OF cani®
@Wy0a @S groadia quladl- GH06TS
Al agye ?
(A) Worogo MYanalo0e M@H@ T
(B) agglo lai@emglo Slajd Mm@

adwonemo ©.0Ig OB0SiENs. T
© &0} @o oloaul QM
aldlandlo) mdss.  ©

(D) (I aidlaceemEwlong QIO
U H68mH101 o) aflawlanmailm’
@O0 BOYHN)db.

Which of the following is a method that a

good Mathematics teacher adopt in the

classroom ?

(A) Giving lot of homework

(B) Giving solution of all problems by
teacher itself

(C) Solving a problem many times

(D) Exploring different ways of solving a
problem




56.

£ allomio MOmoM) QG-
MATHICLIHE o) BRDRWEBT @RSIN00-
mexsaeiaiges werlo alom dafl age ?

A) dlunom daol
(B) @@wam dafl -
(C) ofwwm dla
(D) aJ@lgdem @l

56.

Which of the following learning method is
based on the concept ‘from examples to
generalisation” ?
(A) Deductive method
(B) Inductive method

Synthetic method
(D) Experimental method




57. a2l@owdd ag@lesnoemo ABC Qes 57.
QWeB®D 3 eomv.dl., 4 equ.dl, 5 eqv.d
@pem. agmieldfl@ adlimio  agaila”
QUNCOMHNIBS LlonUmoem BQ ag)ss@d,

BQ oes aflgo ag)@oeny ?
A

A) 12 &

B) 24 eava@laligd
©) 4.8 ecva@ldigd
(D) 6 eavagldlgd

2001 M

The sides of the right angled triangle ABC
are 3 cm, 4 cm and 5 cm long. BQ is the
perpendicular from the right angled vertex
to its opposite side.

What is the length of BQ ?

A




58.

afi@esiad AB @0 CD @jo maoomaaoens
/ABC=50°, ZBAC=60°. :

D
B

60°
A

C

£BCD @es @ogal :

(A) 50°

(B) 60°
(© 70°

(D) 110°

58.

In the figure, AB and CD are parallel.
ZABC =50°, ZBAC =60°.

B
50°

60°
A

D

C

The measure of ZBCD is :

(A) 50°
(B) 60°
(© 70°

(D) 110°




59.

3 oM@ EVI®ETREROS 2 BSleeISoM

9. 8, 1A, sassavis
nfirmemie dlalo a@® ?

ag)(Mm  MLoEHBIOS

.(A) 3n+2

60,

(B) 3+2n
() 5+3n

(D) 5n+3

®06Y OBOSIEHUQ@ ald

a@y®moenm ?

(A) 998000

dem QUBdWo

(B) 998001

2001 M

(©) 998002

(D) 998003

The numbers 5, 8, 11, ......... are got by added
2 to multiples of 3. What is the algebraic
form of these numbers ?

(A) 3n+2
(B) 3+2n
(C) 5+3n

(D) 5n+3

Which among the following is a perfect
square ?

(A) 998000
(B) 998001
(C) 998002
(D) 998003



Ktet Category 2 Psychology

109



CATEGORY-1I

PART -1

Child Development and Pedagogy

' QuestiOn
@REaadio Al agmas agy g Cr;jumlo.ers 1to 30

aJom mdlaimasiien @omacs ?

(A)

(B)

QU000 QMROPO

W@ amsoyo

(©

QISMO AMIRIPO

(D)

aomalls amsggoiyo

Introspection was 2 key method in which

school of psychology ?
(A) Behaviourism
(B) Functionalism
©) Structuralism

(D) Humanism




'MoBQ (@l QljOSeMo' ag)m EBR®O
@ROOIESHmo6T ?

(A)  (en1emd

(B) ©6QUEMIGIIH;

(C) eoo0omfl

(D) ®@rmoenI@d

alel MaanstBglello "oalemd:iSlddas)

alles’ @6 Bigladdas mial" agma

O0loOWIMEI@ o@@NOR ©Ba0w-
emmoeny ?

(A)  ZumoPaliemo® ellotd Y@M

(B)  eflot Moyt quonalids QUGEH6Mo

C) 9alaosmy oBMMemBees ellon
8oUflowy

2uloe alden®o

3.

Who proposed the concept of Universal
grammar ?

(A) Bruner
(B) Vygotsky
(©) Chomsky

(D) Ausubel

In many societies, “pink for girls, blue for
boys” is an example of :

Biological sex difference
Gender-neutral socialization

Gender coding of consumer products

Genetic determination




%?anJmJ‘-’qum

®oOPq] OV
©BIa0eMED® ?

o ofl
(A) ©yanaI000 &.21gMEI® @109

M),

(B) @mOMO ©aIRORETM m)mm)nJ“ﬂU-ﬂ

M@l

ooaloalm @ule 0yanaldo?
M@Delh)dh

gy eamymogaial allg) aegoeflad
0g)SYOD} HSWidH

AMNERaAHH0MOS @OAUBOND MVORHUED
dloao afleafld amae ageafodd ?

(A) 16t April, 2016

(B) 19t April, 2017
(C) 19t April, 2015

(D) 16t April, 2015

Which of the following is an example of

negative reinforcement ?

(A) Giving candy for doing homework

(B) Giving a timeout for misbehaviour

(C) Adding extra homework for tardiness

Taking away chores for good
behaviour

The Rights of Persons with Disabilities
(RPwD) Act came into force from :

(A) 16t April, 2016
(B) 19t April, 2017
(C) 19t April, 2015

(D) 16t April, 2015




®06¥ O0s)aTldlenmal@d emiyaul-
@omo  &emlallslenomes Elwow
qUI@CUOdRI0 aRy® ?

(A) I1Q=MA/CA x100

(B) IQ=CA/MA X100
(C) IQ=MA/EQx100

(D) IQ=MA/CAXEQ

Which among the following is the correct
formula for calculating IQ of a person ?

(A) 1Q=MA/CAX100
(B) IQ=CA/MAX100 '
() IQ=MA/EQ X100

(D) 1Q=MA/CAXEQ

Ué]mmﬂ(b‘b aslorm RHHOQISIAIOMO) o

g} @33 @@ esdl®osneg @M.

Aaeymy. a0ReUAUIOR @REl 0wy @

’_@@“ rooefle) A ag® (e IoRElaioeys 5
(A)

9 cu@milay oy

10 ;@@ 13 A@@IIe
13 o)o@d 14 AURQUAIO®

14 mmxg@oﬁ @Yo

A child tries to obey his parents purely to
avoid punishment. According to Kohlberg
this occurs during which stage ?

(A) Before 9 years
(B) 10 to 13 years
©) 13 to 14 years
(D) Beyond 14




alOMOED B0 MIDIaCld: (alaBmm-
20w 8aloeoadlaflenzm ery gomy
QA @WIOAIBMD AL 6.21gemo :

ig] 2Ido)d8lo Slo AudsnIBaL0
alato@noadSla flae)ds.

AUSBIN®  alBldUBE@R  do@o
VMM N@c)hs.

MaNaloClH816S
o006 SOk

E0SealS@

@.210B)6B (D 8210100 ®
(alBoaEMo @MO(@o MSETIH:

£a00IOBA BSOS @E (IO
80)0 aiea0I0s llaon aflalorsmd

DOQSLI086 3 fo¥ldl @020

MRI®)a1008I gnSalgdnyaiord qLOUWlendm
Rl e ag@osm ?

A)  ayempPmme enial

(B)  taudnyafloiomo® 6niyasl

© wpmlalmaioqge QIO

0@ eryaul
(D) omde socsnd o243

In a classroom which promotes learning as
a social activity, the teacher should :

(A) Encourage group discussions and
teamwork

Focus only on individual tests

Discourage peer interaction

Only lecture without asking questions
According to Howard Gardner, which
Intelligence allows one to effectively work

with others by trying to know their feelings
and emotions ?

(A) Interpersonal Intelligence
(B) Naturalistic Intelligence
(C) Logical and Mathematical Intelligence

Intrapersonal Intelligence




10.

o‘)-
qufl#-00\@0® @ol?
4000 @] Amgq‘g,@w;as

e sy :

momjassl
FRO8 @@ elaem I AO®

@2y Aflsiam (il @0

(A) Gomo

(B) ©Bo@H06Mo

(C) @)aldoemo

(D)  (aJadAalemo

6158002100 HOUBIBH: OO
a@fule wemadw]l avpwlmleniom

00ISdho aR®eM ?

(A)  ®0LI00IMN0 V0N 2IRYETBRD

(B) 2o®oallmosegles Sealseljo

al@l.oeemalio

(C) esellaflavm al@latoslewd

(D)  ©aloadh0a000 (Vg flOnMe?

10.

The process of redirecting socially
unacceptable desires along desirabl
channels is known as :

(A) Repression
Sublimation
Rationalization

Projection

Which factor most strongly influences
emotional development in early childhood ?

(A) Weather conditions

Parental interaction and caregiving

Television programs

Nutritional supplements




@ entri ;
- @09l aidldleloies  #gles]dd
MANIDH® UBDEMOMISS BO} (AIWOM
@M MIHLAORIMAUDI@® a@®moes,

QB 68 RO BDYD b))

(Joe@Osldr alrjeusemo (lay-
BVOAOHQ SO )b

(UBEDMEBD GyoUem Aowon-
emglad @o®o adldfloeqsiomis

Sgloen calosnes MUl dhelo
QUMSORD DaIB@OUI 866>

12,

Which of the following is a key strategy to
foster creativity in a visually impaired

child ?

(A) Rely exclusively on worksheets

Discourage hands-on exploration

Limit activities to auditory exercises

only

Use tactile art materials like clay etc.




13. @oax®jo Aflm®o aloqyeo SRUMWEI -
(b’]m&m)& ag)m QQQJGU)OQDU(B}’)']@&QS
ERROOD BRI MOMOW o fl(wflg,qg).-
20T ag)Omoey’ ?

(A) 60} H}5l Edmadilgorm o IB6TRg)-
£IIOS QO.2J0RIMNIBIM)

(B) 803 JTOM@IGD 2l ®emaom

@o@o 2flowileaniomy

80} il aldlandleniemiod s
Mj@o MEMVOBIA6IM]

80} gl aldoasell amaloomoss)
alCld$M]

13,

Which of the following best illustrates
Vygotsky’s idea that language and thought
become interconnected ?

(A) A toddler babbles without meaning

(B) An adult thinks in images only

A child uses self-talk to solve a puzzle

silently

A child learns vocabulary by rote




14. ®269 aJO@MAUE a@®oem alOm
OOUBLNMTOM B0 TVOWODET Bld3iem-
2RPOND ?

(A)

(B)

Uoflenymailello a@@gmg,mm"l-
epmies enpallols

Vel® @B DMMILIOEOL-
maflenas enpalios
s @oem®o@

MSHONIID
mijalloys

Mdeguemnd woellenymaegs
DDIETI )

14.

Which one of the following is NOT a
common sign of a learning disability ?

(A)

Difficulty in reading and writing

Trouble in understanding math

concepts

Inability to walk

Problems following directions




@O BALEN0AT/O6a0qd @REIAIH
awlemodwd oaa@imod mIWonem
o0 (aludemmenmgld mISOIMD
mpall  @)g emalsymy.  ®I6Y
alOMAIX@ o ®Emacem @
HS|HE) AVOWIREM oMY Olo (alUDED-
METBEIR al6EHSIHN0M ManIDB6s ?

(A) @URSEH $HSIO@  NJadaldoOo

M@, ¥

(B) oMo ©ald00q ©6SLYMGD
@MDY, ¥

(©) AD/HD wgs og SlER0OSI o
@OAUOY ((NIQJOHE.

(D) @oaieg @widalle:oes @os)on
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18.

Anita has attention-deficit/hyperactivit,
disorder (AD/HD) and finds it hard to stay
on task in a large class. Which strategy

would help most in a general education
setting ?

(A) Giving her more homework
(B) Ignoring off such behaviour deviations
(C) Group her only with other students

with AD/HD

(D) Seating her next to the teacher and
using short, clear tasks
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16.

In Guilford’s ‘Structure of Intellect Model’
(SOI), memory comes under :

(A) Contents
Operations
Products

Units

According to Abraham Maslow the desire
for strength, achievement and competence
comes under which need of a person ?

(A) Physiological needs
(B) Safety needs
(C) Self esteem needs

(D) Love and belongingness needs
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18,

According to Piaget, the children use signs
and symbols in place of real objects during
which stage of development ?

(A) Sensory motor stage
(B) Pre-operational stage
(C) Concrete operational stage

(D) Formal operational stage

Thematic apperception test is an example

for :

(A) Case study

(B) Cumulative record
(C) Projective technique
(D) Action research
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20.

WALIS is an example for :

(A) Personality test
Intelligent test

(C) Aptitude test

(D) Attitude test

Which of the following is NOT a feature of
child-centered education ?

(A) Individualized learning plans
Rote memorization of isolated facts

Emphasis on social collaboration

Integration of real-world problems
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In Pavlov’s Classical conditioning the

after conditioning the sound of the
becomes :

(A) Conditioned Response (CR)

(B) Conditioned Stimulus (CS)

(C) Natural stimulus (NS)

(D) Unconditioned Stimulus (US)

In continuous evaluation, the main focys

on:
(A) Ranking students

(B) Helping students to improve learni

(C) Memorizing facts only

(D) Teaching without assessment
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25,

Which of the following is NOT considers
disability under CWSN ?

(A) Visual impairment
(B) Hearing impairment
(C) Emotional disturbance

(D) High academic achievement

In Freud’s structural model, the “ego”
operates according to the :

Reality principle
Pleasure principle »
Moral principle *

Growth principle
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Which method is an example of Assessment

for Learning ?

(A)

(B)

End-of-term standardized exam

Weekly quizzes with personalized
feedback

National Achievement Test

Final Course Grade

A child repeats a phone number several
times to memorize it. This is an example

of :

Organization
Elaboration
Rehearsal

Discovery learning
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28.

While teaching the topic ‘parts of a flower
to the students, a teacher has initially
presented the flower as a whole and later
explained the parts of it. The concept
belongs to :

(A) Gestalt learning

(B) Classical conditioning

Operant conditioning

Observational learning
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The period known as the “Sloppy Age”
usually refers to which age group ?

(A) Early childhood

(B) Late childhood

(€) Adolescence

(D) Infancy

The term chunking is related to :

(A) Attention
(B) Memory
(C) Thinking

(D) Emotions
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Identify the work which is not included in

the Sangam Literature.

(A) Arthasasthra
(B) Pathupattu
(C) Akananuru
(D) Patittupattu

If the maximum temperature of the day is
recorded as 26°C and the daily mean
temperature is calculated as 20°C, what may
be the minimum temperature of the
day ?

(A) 6°C

(B) 42°C

(C) 14°C

(D) 20°C




33. 'eflaocu@]' agm (Mmoo e ea]sl- 33. The work, ‘Lilavati’ is related to :
@lEIME) :
NEMI®UBO(TYPO (A) Mathematics

@mj_g‘ﬂ(m (B) Philosophy
(C) History

(D) Geography

2 l@l(@o
@)@ 00O

Identify the dynasty of Balban :

ero @ eru M HUe3
662010 ).
eU@dd

(A) Khalji

(B) Thuglaq
(6)&8&)6) ©)

qugfle ()
a}ofé_’Jg,d}G)

Savyid

Mamluk




80 eIF @ oo midml emdamd
2Igolad eaig enidmioer moainileimyo
oo midmioe moaimleimyo Bm)

Galdmpl c\‘mmm(g|9‘zmnﬂm»gm}\ m@n’hoﬂﬂ(n,
MAAE® ag)® ?

(A) 509
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If the wet bulb reading and drybulb ”’adm?)
in a Wet and Dry bulb thermometer show

the same reading, the relative humidity js .

(A) 50%
(B) 100%
(C) 0%
(D) 200%

Who renounced the title of ‘Sir’ following the
Jallianwala Bagh ?

(A) Mahatma Gandhi

(B) Rabindranath Tagore

(C) Bal Gangadhar Tilak

(D) Lala Lajpath Rai
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Name the dynasty that established the
Nalanda University.

(A) The Mouryans
(B) The Kushanas
(C) The Guptas

(D) The Satavahanas

Who founded the ‘Samatva Samajam’ ?
(A) Ayyankali

(B) Vaghbhatananda

© Chattampi Swamikal

(D) Vaikunta Swamikal

Who wrote the book, ‘In Praise of Folly’ ?

Dante
Erasmus
Cervantes

Petrarc
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mal Slclell aflgo
aosud  |() |momiles (a) (1465 &9.4.
2)|eynsdem (i) |(erad G (b) |800 9.4
3) | crromocud | (iii) | @ancsniceiva)d [(c) (1400 «.d.

(A)  (1)-(ii)-(b), (2)-(iii)-(c). (3)-(0)-(a)

\I\Il.

(B) (D)-(i)-(a), (2)-(0)-(@) (3o
(1)-(i)-(c), (2)-(id)-(b), (3)-(iid)- -(c)
(D) (1)-(ii)-(a), (2)-(iD)-(b). (3)-(iii)-(b)

The latitudinal extent of Kerala is :
(A) B 04 Nto37°6 N

(B) 74°21' Eto 77°37'E
(C) 68°7 Eto97°25'E
(D) 8°17'Nto 12" 47" N

Match the following and choose the correct

answer :

River Origin ‘ Length

Kaveri |(i) [Nashik (a) |1465 km

Krishna |(ii) |Brahmagiri (b) {800 km

Godavari (iii) |Mahabaleshwar |(c) [1400 km |

(A)  (1)-(ii)-(b), (2)-(iii)-(c). (3)-(1)-(a)
(B)  (1)-(ii)-(a), (2)-()-(a). (3)-(ii)-(b)
©  (1)-@)-(c) (2)-(iD)-(b). (3)-(iii)-(c)
(D)  (1)-(i)-(@), (2)-(ii)-(b). (3)-(iii)-(b)
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As per the continental drift theory, the

ancient landmass called Gondwanaland

includes :

(A)

(B)

South America, Africa, Australia,
Indian Peninsula

South America, Africa, Eurasia,

Australia

North America, Africa, Indian-

Peninsula, Eurasia

South America, Eurasia, Indian

L )
Peninsula, Australia
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OB,

(A) alog)al (A)

Padua

RESIGERTOY, (B) Cordova

(C) Oxford
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aJoaflo (D) Pavia
mosmll@iesr qjalo nooalfl o jmon ?
(A)  Eadn0 B

44. Who built the stupa at Sanchi ?

(A) Brahmagupta
(B) aymwmynmd 11 (B) Chandragupta II
Q) moyEmaMd

(C) Samudragupta
(D) Ashoka

(D) @mnewosm
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(A) 2am
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(C) 1am
(D) 12 @edaw oo

ea0(ENUIUAR] 2 celHOaMIOS)o ap® 46,

Almoow @v.aldleaymy ?
(A) aJoloudlefl dlmo

(B) mfm’]@ms &dlmo

(C) ooy @™

(D) oacrostd Elme

Estimate the Indian Standard Time,

assuming the local time at 82° 30' West
longitude as 2 pm :

(A) 2am

(B) 730 pm

(C) 1am

(D) 12 midnight

2 February is celebrated world over as :

Environment day
Wetlands day
Soil day

Ozone day
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(A) 1757
(B) 1754
(C) 1767

(D) 1764

47.

48.

What may be the actual distance between
two places which are at a distance of 13 cm

in a map of scale 1 : 25000 ?

(A) 3.25 km
(B) 6.5 km
(C) 52 km
(D) 325 km

Mention the year when the battle of Buxar

took place :

(A) 1757
(B) 1754
(C) 1767
(D) 1764
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49.

50.

Imaginary lines drawn on topographical
maps connecting places at same elevation

from mean sea level are :

(A) Isoneph
(B) Isohyets
(C) Isobars

(D) Contour lines

Identify the place where Maruthu Pandyan

led the struggle against the British :
Sivaganga
Awadh
Rajmahal Hills

Kanpur
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Mention the area where the ‘Nediyirupp,

Swaroopam’ existed.
(A) Kochi

(B) Kozhikode

(C) Venad

(D) Chirakkal

Ferrel cell is the cell of air circulation in :

Frigid zone
Mid latitudes
Tropical region

Entire Northern hemisphere
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Outer planets in the solar system are
characterised with :

(A) High density and Small size
(B) Low density and Large size
(C) Low density and Small size

(D) High density and Large size

The northward apparent movement of the
Sun begins from :

(A) 21 March

(B) 22 December
(C) 21 June

(D) 23 September
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International Bank for Reconstruction and

”“Vl'lnpmvnt is also known as :
(A) International Monetary Fund (IMF)
(B) World Trade Organisation (WTO)

(C) General Agreement on Trade and
Tariff (GATT)
(D) World Bank

One of the following is NOT a feature of
Multi National Corporation (MNC) :

(A) Operates on a global scale
(B) Has huge capital resources
(C) Has unity of control

(D) Production and marketing are located
in a single country
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Which of the following statements about the
service sector in India is correct ?

(A)

The sector is mainly involved in
extracting natural resources.

It includes industries like agriculture
and mining.

It accounts for the largest share of
India’s GDP.

It contributes less than the
manufacturing sector to India’s GDP.
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Which of the following state is the large,

producer of wheat in India ?

(A) Punjab

(B) Uttar Pradesh
(C) Haryana

(D) Madhya Pradesh

Which is the biggest public sector
commercial bank in India ?

(A) State Bank of India

(B) Punjab National Bank

(C) Bank of Baroda

(D) Canara Bank

‘SURABHLI' is related to which traditional
industries in Kerala ?

(A) Cashew nut
(B) Coir

(C) Handicrafts
(D) Pottery
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(D)

(i), (i), (i) & (iv)

Identify the challenges of Sustainable

development from below :

War

Poverty

Population growth
Environmental degradation
(1), (ii) and (iii) only

(ii), (iii) and (iv) only

(i), (ii) and (iv) only

(i), (ii), (iii) and (iv)
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Which Five Year Plan in India has an
objective of growth with justice and Garibi

IHatao ?

(A) Second Five Year Plan
(B)  Third Five Year Plan
(C) Fourth Five Year Plan
(D) Fifth Five Year Plan

Choose the practice from among the
following which is not related to Direct
Democracy.

Plebiscite

Initiative

Calling Attention Motion

Recall




Q@M@ eIMWER]S alom aldldle
a@ ?

(A) adloveelsmilo

(B) adlov(ndndi@
(€ aflaqpoddeaelle
(D) eoglmo

ooUd

(wynleBslaelss BaI0h)BTNO0}0 RN

QUyOmETBUD ©.210)®0dx)M} 0g)T™ @DUWO
emowés)gjs&(m)o@ @RURYDO® alOMm

Mano@ :
(A) woomelle @alSe
(B) @ogeImn

(N2al

(D) agoent

The learning disability related to reading is:

(A) Dislexia
(B) Disgraphia
(€) Discalculia
(D) Autism

The teaching aid helps to convey the idea
that the latitudinal circles became smaller

when it goes to the poles:

(A) Toposheet
(B) Atlas
(€) Graph

(D)  Globe




Oh,

68.

RO

LI ?

MDA W mqi’%i‘h?\
amoaMm cOAMY

M v\\\\ \w

(DY

]
M

8B00MY Oqp0

Sles snalg mmieale aidanymaellm’ o7

\\n\\ ?&y\px\ﬁv\m\

(A)
(B)
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Who introduced the concept of Genery]
Will ?

(A) Adolf Hitler

(B) John Rawls

(C) Aristotle

(D) Jean Jacques Rousseau

Apt learning method to get direct experience
to pupils :

(A) Seminar

(B) Assignment

(C) Debate

(D) Field Trip

Example of three dimensional model :
(A) Map

(B) Atlas

(C) Globe

(D) Toposheet




69. mlemoe oeymldepoolod  esaen-

69.
QL@

Which is not a part of continuous
evaluation ?

(A) Project

(B) Term Examination

(C) Class Test

(D) Seminar

(A)  clomgy

(B) alosUodadle: aides
o oSy
emdlmod

O3] grom)ds el @ Modlany wo(m

70.  Which of the following softw

to Social Science le
classes ?

. adomemlm’ (Jeomm
GMOafOHAUIRD agy@moeny ?
(A) #lewoedleny
(B) a@ofdendlcd
(C) (s0a6)

(D) onof

ares is related
arning in Primary

LidpInkeluw))

(A)  Geogebra
(B) Marble
(C) Tracker
(D) PhET




71.
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emianalod Q2o allaldel.ol
enadloenveienilen alleom aeigeamela
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(A)  OAQRITDM

(B) tats@owo
(C) worem

(D)  @dlal

Slatd-eso Milend @R ?

(A) mlenoes@io gl milenoy-
HS®io @OERIUAHIE @0 W) -
MOEIM &HFIYMM Eelodme/ alon-
meales 6odeLTMDINes
alomefleal @rowio

(B) @raflupm (leaw aid.a) aldumend-
SHYCMUOD GO VE/Ml@am-
BWIAS @OUNBHHMD

Not belonging to the stages of cognitive
development explained by Jenjamin
Bloom :

(A) Creativity

(B) Application

(C) Understanding

(D) Knowledge

Who is the Pro-tem Speaker ?

(A) A memberof the panel of Chairpersons
in the Lok Sabha or Legislative
Assembly who can preside in the
absence of the Speaker and Deputy
Speaker.

Chairperson to the Lok Sabha or
Legislative Assembly when a non-
confidence motion is in discussion.

(C) ealom dlossmmsiallmenato, B4
MOWIREM M1EHO0 T TS
SOMDmAUOD GBI/ MTl@am-
ciloal ®momancels learaslory
goadlaud

A temporary presiding officer in the
Lok Sabha or Legislative Assembly,
after a general election, until a regular

Speaker is elected.

(D) flend @02 OUEMIOCD GRI0HIVE/
Moomedlen 8o} ®oBenels

Neamaslors aoadirud

A temporary presiding officer in the
Lok Sabha or Legislative Assembly

when the Speaker resigns.
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73.

Which of the
among those suggested by World Health

Organisation (WHO) ?

owing 1s no

A) Creative thinking

C) Evaluation

(
(B) Self awareness
(
(

D) Empathy

Who has developed a charton the emotiona|
development of ¢ hildren ?

(A) Katherine Bridges

(B) Daniel Goleman

(C) Flavel

(D) Gardner




2anom mldmlalwes MOOMJa0y LOO(TY
SO mseeoenaa :

(Ao

2ommMilemo@ qummellmoniaun

MadMo

@oUIE&0mo

(Judemmeaalgo, enflosum  agigo,
(B S0t agigo ag)mml
a2igemglellos@osm’ @@ oafld:oemo
MSSHIMEDM @El (A IOWOS®OX ?

(A) allemosmyl
(B) afl@ony

(C)  milumenzg Glano@iow)

(D) ©2e0%0 ag)my. (Enjemd

Which of the following should take place in

a Social Science class of knowledge
construction ?

(A) Praise

(B) Mental disequilibrium

(C) Reward

(D) Recognition

Concept formation takes place through
Enactive stage, Iconic stage and Symbolic

stage. This opinion was put forward by :

(A) Vygotsky
Piaget
Sigmond Freud

Jerome S. Bruner




Specification is :

77.  (adlenemo agma :
(A)  (JdODMEBNS B0} Moallwomo (A) A system of actions

(B) ElEEIBOS B0} CaI00 (B) A collection of goals

<) T edlE0001M @0 ERRENON]- (C)  Observable and measurable outcomes

MBI CMGEIBD

(D) Classroom activities

é?o(n.):()(;o (nJQJ(’bmmm@

(D)

0 - 4 . » .
mdafla  aloojlavelanes  alemoal 78.  Spiral Curriculum is the contribution of :
e
@D

\\\‘\\‘ l;\w\lx .
U0 (A) Gardner

lomad I
i (B) Skinner

(REMDd (C) Bruner

e I=leasISe T
QUIISOVOM (D) Watson




MroRA@OWS] emAlg euMLMEs  79.

owndls ooallso

(B)

alail@ goallso

(©)

(D)

aleI& o0allso

el poallso

eodglesflod 243-1 omaaidlal sl jowym
(L qocUMBEa agmoem wal ?

moqunom @loeetmsial dadladid
cunoallenyme) aljaiaun 6219,

roorunomM@Emol 6o} WM
poflay® qunoafleeam@ Qoo

6219}

(U)OQ)(TU@(Q)&G)S muotelosmo

6.01@d el R MDO0IOS £0a01MV}-
dhB16S ruoLIMEMoO

A source directly related to the historical

event is:

(A) Primary Source
(B) Secondary Source
(C) Indirect Source

(D) Tertiary Source

Which one of the following statements about
Article 243-1 is correct ?

(A) Establishment of State Election

Commission

(B) Provides for the establishment of a

Finance Commission for the State

Organisation of Gram Sabha

Reservation of Offices of Chairpersons
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(A) cavd. enll.and. moasnidied
(B)  @a0oamo momuf)

() saLd. ag)ms. eowodynstemad
(D) |uaodendd OMatio}

aflgyosyom EIAUEWRD  VOBHO D > @] -
SNIMBIMoe] aflajeiwe (Iswogm-

OHUSIOMIM  ©BdEmo @R B
CaIdm Mo :

(A) 90 a0

(B) 00y alava

() rolEeuao

(D)  @pWoals manom

81.

82.

Totality of all experience which are utilise
by the schools to attain the aims of educatio

IS :

(A) Student text
(B) Curriculum
(C) Syllabus

(D)

is : and science |,
“Democracy 1S the art @ of

: 1C COoOnNoOmic
n‘”hi“,"‘” ”"n (‘”“rL‘ Phy,‘ql( (1', eCconoOmic ,|n"1
spiritual resources of all the various sectiop,
of the people in the service of the commy,

»fined democracy lik.
goad of all”. Who de fined y like

this ?
(A) Dr. B.R. Ambedkar
(B) Mahatma Gandhi

(C) Dr. S. Radhakrishnan

(D) Jawaharlal Nehru

Teacher text




83. ag@ eosmeaismaldd aflomosns MO

elgy agm @wwwwo moo Vfle @) o1 -
@lasmay ?

(A) @@miesew

(B)  &amaw
(C) =damad
(D) oMyl eguam s8oad @readles

MA@ a10H6 eruoum mlaafl (GST)
msaflanssl® cremagIsMd  eeraM
mloao agymosny’ ?

(A) 122

() 101

(C) 102
(D) 106

From which Constitution did we adopt thy
idea of a Concurrent List ?

(A) Australia

(B) Canada

(©)  Germany

(D)  United States of America

Choose the Constitutional Amendment Ac
that introduced the Goods
(GST) in India.

(A) 122

(B) 101

© 102

(D) 106

and Services Ta:




85.

‘adlcdenmdaloelsq pee) aldlafleey (Teach
Like Finland) oy aljmxo agynieioxmod ?

(A)  oflemoe) all. Aloead

(B) eemoal au.
(C) alvsan enod

(D) all@osan

MVODIa0y  MO(PQ@OM]  IMWe|S
NRIWIW (IPIUMBRD aRe®m)oo ?

(i) om0y (IQEMBBES (aIOWIMYo
MBI}

(i) @S BR Mo SO aldlenHemo

(iii)  @ERWDAIMD EBAOOMETD

)51 HO8 @D H00HH0alBQY 0
Allayamiealss maflensmo

(i), (ii), (iv)

(ii) & (iii) mo@o
(iii) & (iv) @O®o

(i) & (iii) @o(@o

85.

“Teach Like Finland’ is written by :

(A) Thimothy D. Walker
(B) Lemov D.
(C) Paulo Freire

(D) Piaget

Which statements are true related to the

study of Social Science ?

(i)  Gives importance to social issues.

(i) Students themselves discover and

learn.

(i) Teacher should be in the central

position.

(iv) Students should be led with curiosity.

(A) (i) (i), (iv)
(B) (i) and (iii) only
(C) (iii) and (iv) only

(D) (i) and (iii) only
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2JJAUIOS OEIS}EMAIDIE MIDLOYUOTY
ERE-Tr Ny el eruaWalgl oo
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(A) ®anoauod tadaimd

OOQWRETE HOQTD
@DOdancl) endler

Q-’;r/')ﬁr"fm;i,'n ]/’7)!'1')'

L

88 Who ;‘7"%“‘\"‘1 the

Which one of the following statements is not

true about projects in Social Science ?

(A) Develops analytical skills

(B) Makes scoring easy in Social Science

Enhances problem solving skills

Promotes research skills

conct l‘? ol \‘,I-;‘.

g
intelligence

(A) Howard Gardner

Rayvmond Catte 1l

red Binet
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